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Fwil|isra DRAUGHTSMAN ‘B’ (MECHANICAL)

01. iR “x = 3=k TI&fia @ 2 / The equation “x = constant” represents
(A) x-31& % GHHIR Th &1/ A line parallel to x-axis
(B) x-3181 | &ad Teh @1 / A line perpendicular to x-axis
(C) x-31& it 3R FH e 1T / A line inclined to x-axis
(D) U @51 &l / Not a line

02. Ffe “x 3R “y' qTh o1 g, @ /1 “x” and “y” are complementary angles, then

(A) cosx=cosy (B) sinx=siny
(C) sinx=cosy (D) tanx=tany

03. & 7 armfa # (YW W TE) fg AB=14cm, AD=13cm R CD=5cm &, A tan 8 F AW & /

In the given figure (not to scale), if AB = 14 cm, AD = 13 cm and CD = 5 cm, then the value of tan 8

is
B
0
E T D
A [
(A) 1413 (B) 5/3
(C) 133 (D) 4/3
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04. fog P(1,4) 3R Q(4,0) % = &I gt B / The distance between the points P(1,4) and Q(4,0) is

05.

06.

07.

(A) 4 (B) 5
(C) 6 (D) 343

QTS IBld A (TAW W ) AfG BC = 50 cm 8, @ AE T M 2 / In the given figure (not to
scale), if BC = 50 cm, the value of AE is

. E
%o_: -
A B
(A) 100 cm (B) 50cm
(C) 5042 cm (D) 100/«.@ cm

7 cm s 91 U 31 3refiet EEsiR] &% @ / Surface area of a solid hemisphere having
radius of 7 cm is

(A) 616cm? (B) 308 cm?

(C) 154cm® (D) 462 cm®

9% B ¥ BIS G& W 1 ¥ 5 a9 6 ff Gemsh ¥ ST 8, § / The least number that is
divisible by all the numbers from 1to 5 is

(A) 5 (B) 60

(C) 20 (D) 100

Qpdw elanQeuell oyymiss Hpeuer 2 Bgw euatTsid/
T e Hisetaw / ISRO Propulsion Complex — grtipé /3 /April 10, 2022




A

isFa DRAUGHTSMAN ‘B’ (MECHANICAL)
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08. I T g 10 m <t H=mg & fRet 8 / When a ball is dropped from a height of 10 m,
(A)

09.

(B)

(©)

D)

firree % g sueht fufoe ot s St @ 3fit ifost St e St R / Its potential energy

increases and kinetic energy decreases during the fall
TEeh! FUTTIT o1l TRIEE % CIUF Tl Sl & SUsL 8t @/ Its potential energy is equal to

the kinetic energy during the fall
FrREE % SR fRufas St 9 &t St 8 3R ifast it &g 9Tt 2 / The potential energy

decreases and the kinetic energy increases during the fall

e o fafes o=t G 3R e St 3rfrepaw 1At 8/ The potential energy is zero and

kinetic energy is maximum while it is falling

Q TEgatt & e TRTRST a9 F. Al Q1 SR % GoIH Y Ik e i gt o siget f s
% feTn S 2, A TN S 99 S / The gravitational force between two objects is F. If the

masses of both the objects are halved without altering the distance between them, then the
gravitational force would become

(A)
(®)

F/4 (B) FI2
F (D) 2F

10. g=EH 3T AT+ UM%l &1 27/ What is the product of mass and velocity?
(A)
(C) T / Acceleration (D) T / Momentum

11.

st / Force (B) ST&dl / Inertia

afg foreht axg o1 fomommw W & o & TmEuR &, @ SXg F 9 a W W@ R/ I the
displacement of an object is proportional to square of time, then the object is moving with

(A)
(B)
(®)
(D)

Teh GHH AT/ Uniform velocity

Teh GHH 0T / Uniform acceleration
Sedl g3AT & / Increasing acceleration
A & / Decreasing acceleration
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12. 1,500 kg 5599F I TF FR 10 m/s & a7 & 9 W 21 9 39 Hr & T J1-vmw 76 wH-

13.

14.

15.

aﬁ%mﬁ Qﬁﬁi‘@%,?ﬁ15s%3¢iﬁﬁ$ﬁ$¥ﬁﬂ@ﬂ“\c&rofmass 1,500 kg is

moving with a velocity of 10 m/s. If the velocity-time graph for this car is a horizontal line parallel to
the time axis, then the velocity of the car at the end of 15 s will be

(A) 150 m/s (B) 1.5m/s

(C) 10m/s (D) Om/s

e =1 ] HETE 11 B 37K HHT GIAH AT 23 B, $9H 2 / The atomic number of Sodium
is 11 and its mass number is 23. It has
(A) 11 =T 31T 12 W / 11 neutrons and 12 protons

(B) 12 WIEiT 3 11 SR / 12 protons and 11 electrons
(C) 12 SoiegiF 3 11 = / 12 electrons and 11 neutrons
(D) 11 Soiegi 3T 12 =g / 11 electrons and 12 neutrons

frafafan § @ fem oy & 30 R & 9999 | 9 39 T6a & 2/ Under which of the

following conditions we can boil water at room temperature?
(A) <pH qHId 9T / At low pressure

(B) 3= g9 WX / At high pressure
(C) dgHSed gEE W / At atmospheric pressure
(D) HM S qYHH YL U IS T80 ST Gk @ / Water cannot be boiled at room temperature

A1 e Y / Nano-metre is an/a
(A) oga T gt I A % T AT TRAT S IR ST / Instrument used for measuring

very small distance

(B) wgd SE gt AT % TIC SEaATe TR ST STl 39K / Instrument used for measuring very
big distance

(C) &gd A g AT T $HTS / Unit for measuring very small distance

(D) wgd &€t gt W Y 3913 / Unit for measuring very big distance
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16.

12

18.

18.

20.

fFrefafea & @ 9 Sifafn gET § 9@ = w9 @ @ gfa R s@r 82 7 Which of the

following represents reducing scale in engineering drawing?
(A) 11 B) 1.2 )
() 2:1 (D) ST § ¥ Ig 81 / None of the above

Tm 0T gegor faftr ﬁ, ELss! ‘q'?T, T TG ST T ST 2 / In first angle projection method, object is
assumed to be placed in

(A) wEST IgYTY / 1* Quadrant (B) TET IgYM / 2" Quadrant

(C) e =guiy /3" Quadrant (D) = =gl / 4" Quadrant

I forelt a%g % o foigafl & &= 1 m it arafas gff, StE % G W g T g / W W
1 mm gRI fe@mr mn %, TERT Tl 379 (RF) %’ / If the actual distance of 1 m between two
points on an object is shown by 1 mm on a scaled drawing/ map, its Representative Fraction (RF)
is

(A) 1,000 B) 1

(C) 0.001 (D) 0.1

I8 I A TH A U TEER H ITA Feh T8 €91 Thd @ / The angle which we can’t make

using both the set square is
A) 15 (B) 105’
(C) 165 (D) 125

uw fig Feim e & 8 766 @ o Mwra fomm @ 2 39618 ¢ ofk veat =gty # &fe 7w @
4 391 QP 2, T AW HI | e I1d @ foig & 714 939 % g 1 gt 2 / A point is 8 units
away from the vertical plane and 2 units away from profile plane and 4 units away from horizontal

plane in 1% quadrant then the projections are drawn on paper, the distance between the side view
and front view of the point is

(A) 12 SIET / 12 units (B) 6 3IEAT /6 units
(C) 10 3eR1SA! / 10 units (D) I § Eﬁl‘st &1 / None of the above
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21. Ift v W@ AB & d@ 3R ST ot <41 % GHET 8, df 3&T AB 2 / If a line AB parallel to

both the horizontal plane and vertical plane the line AB is
(A) THISe = & oisaa / Perpendicular to profile plane

(B) WIhIEe Wi WX Rerd 2 / Lies on profile plane
(C) BRSO % UMK / Parallel to profile plane
(D) NEEA = Y 3R I g3 2 / Inclined to profile plane

22. 3 qd St "ed ddt (e 3 i) A4 % wiwad 8, W ®9 ¥ vt fewE <4 € 9« 79 / The

planes which are perpendicular to both reference plane (horizontal and vertical) are visible clearly
only if we watched from

(A) EU %I S / Front view B) i g% / Top View
(©) urd S%¥ / Side View (D) et of 34 / Isometric view

23. frufim v & weet, g o oiftm =i & o & gw & ot gl & @ % @Y 30° 3k
FEATER o1 o WY 45" T Feht B NTTNTRH A & / The front view of 1%, 2™ and final stages

of regular cone has its axis inclined at 30" with horizontal plane and 45" with vertical plane. The
orthographic projections are

(A) Gbe, Breptor, Brepiur / Circle, Triangle, Triangle
) e, By, fgst e smaw <efam 8 / Triangle, Triangle, Triangle with base as ellipse
©) T4, e Rrger smaw <efga 7, Pryst Rrwest smaw §d9w 2 / Circle, Triangle with base as

ellipse, Triangle with base as ellipse

(D) iaﬂx_’l, ﬁﬁj,?f, H‘jﬁ / Triangle, Triangle, Triangle

24. U Ao ! I YR T S deT T @ T & 3N TS ae, SR qet ! 3T Fehl 2iar & 3R
Qﬁlﬁﬁﬁ%ﬁm@miﬁﬁa’ﬁ%wﬁrﬁﬁﬁm%lmélA cylinder is placed on vertical

plane on its base and section plane is inclined to vertical plane and perpendicular to horizontal
plane cutting all the generators of the solid. The section is a/an

(A) YiETY / Parabola (B) ¢« /Circle
(C) &MId /Rectangle (D) ?f[dﬂ?[ / Ellipse
8 @pdu alamrGeuafl g rmiss Hlpeuar o i eueTTEd/
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25. T Mol SFWEW 9 | W@ ™1 2| I T ao &fee a0 & dead @ 3 NS @ s 9@
S T hl IR FehaT &, A1 S TS I T I g8 &N / A sphere is placed on the vertical

plane. If the section plane is perpendicular to horizontal plane and inclined to vertical plane cutting
the sphere, then the front view of the section formed will be

(A) e, €E9d / Circle, Ellipse
(B) Wehel, Wehd / Circle, Circle

(C) <rgd, I / Ellipse, Circle
(D) 91, &/ Circle, Line

26. Wi % "W o o <t i @ fafr R 82 7/ Which method of development is employed in

case of cones?
(A) THFIGR @1 f9 / Parallel Line development

(B) gfeened fafty Approximation method
() i fawm / Triangularization Development
(D) feue ws fo™ / Radial Line development

27. frafeRea & & Reae swim fheiet # oo e & fore foma Sirar 2 rfes & <@ =me 7 +{2 / Which
of the following are used to attach parts to a cylinder so they will not turn on it?
(A) <H 3R feraf / Lugs and bearings
(B) i Higa 3R &I / Key seats and bearings
(C) Hu& 3R FIF / Knurls and keys
(D) I IR h I / Keys and key ways

28. TH S T &1 T g 8 FEEH A H 3 MU weE B ?, oK g g 90° R / The
centre of gravity of a right-angled triangle having H as height and B as base length and vertex at
90° at origin is
(A) B2, H/2 (B) B3, H/3
(C) B/4, HI4 (D) B,H
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29.

30.

31.

32.

| (P

el I Sed % ToTT Th HIX g T IWAT FRAT ST 2 /A cotter joint is used

to connect two —— rods.

(A)
(B)
©
(D)

-3 / Co-axial
KEELN| Perpendicular
HHETHR / Parallel

IWIH A ¥ I 781 / None of the above

T et gt Fom 3o #, siee % 31 € /In a flange coupling, the bolts are subjected to

(A)
(B)
(©)
(D)

d=d1 d-1d / Tensile Stress

qiteT a7 / Compressive Stress
AT TG / Shear Stress

IHRIH H F HI3 721 / None of the above

JrEa! € I8 Q TURT W % off F Heiy Y el ST & / The relationship that results between

the two mating parts before assembly is called

(A)
(©

TS / Tolerance (B) Wi / Allowance
T / Limit (D) %< /Fit

60 FRIT TITT @ 60 H8/g77? / What does 60 represents “60 H8/g7"?

(A)
(B)
(©)
D)

T AR / Basic size

RIS B / Actual size

TR <t T €T / Maximum limit of size
FTHR <hT =LA HHET / Minimum limit of size

10
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33. fieifea & & formert w78 3R F0 & forg ke smar @ 6 wae = weffiesa R s 27 4

34.

35.

36.

Which of the following is used to indicate that a surface is to be machined?

(A) & 91 / Finish mark (B) WSART Wk / Machining mark
(C) Hieuu Teharh / Roughness indicator (D) ¥9=<g f&& / Coordinate mark

TR G 1 G BieT A e § § S T2 / Which of the following is the smallest diameter of
a screw thread?
(A) AT 9T =19 / Internal thread diameter

(B) WMt =¥ / Minor diameter
(C) YH@ =™ / Major Diameter
(D) SR 9T S / External thread diameter

TS U9 9T U A8 ¥ HEfig ©9 ¥ 7 e 6 gt @ / The distance a screw thread advances
axially in one turn is the

(A) s /Lead (8) T4= / Pitch
() & /Tumn (D) h& / Crest

frfafea smsfa fpm ftae g =t <@l 2 7 Which rivet head does the following figure

represent?

YR &R / Conical head

B RE / Snap head

HI3EH &8 / Countersunk head
9 %S / Pan head

GICE
S S

P
O
e
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37. e AfesT &1 Wt & / The symbol for spot welding is

N S <
Figure A Figure B Figure C Figure D

(A) 3TTR(d A/ Figure A
(B) 3h{d B/ Figure B
(C) 3'-!'@% C/Figure C
(D) 3AHfd D/ Figure D

38. 3ifdlhe # OFFSET wrie ¥ fmfeifea & @ wam = s9mar ST gshat 2 ? / In AutoCAD, which of

the following cannot be created from the command OFFSET?

(A) GHIR 919 / Parallel Arcs

(B) HEAER V2 / Vertical Striaght

(© Tehigd 91 / Concentric circles

(D) < TR ¥@TE / Three parallel lines

39. ads Th I I T HE 5 o Tg<h w2 /In AutoCAD, the command used for

rounding a corner is

(A) db / Curve (B) ufgeht / Fillet
(C) <& /Chamfer (D) Tast / Smooth
12 @pdu dlawCeuafl gyrmiss Fmeuar 2 HaID eueTsib/
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40. 3idihs H 28} Jfestacd i % FRI 3R AR AT & / In AutoCAD, 2D obijects are rotated around

41.

42.

43.

the
(A) 9% % ¥ / Bottom of the object

(B) 3R fag / Base Point
(C) o% W1 %5 / Centre of the object
(D) Het / Origin

3ehe § SCALE 3T ZOOM FHiS & I &l 3T & / In AutoCAD, the difference between

SCALE and ZOOM commands is .
(A) Thel AW H 99 F T ], Jofe 9@ G GFT H FRW R See T € / SCALE s to

measure dimension, while ZOOM is to change dimension of whole plan
(B) I3 3Ta &l / No difference

(C) SCALE 9% @I 10 TAT 4% &gl AT BT & Thdl & w&s ZOOM Ht Hig dimr 7 8 /

SCALE can grow or shrink object upto 10 times, while ZOOM has no limit
(D) SCALE 3ifeside Sl 3R Fgaidl & Sieich ZOOM $I§7 hi G¥IdT sgerdl @ / SCALE changes

size of object, while ZOOM changes visibility of drawing

Jficihe § foreft sifesae ot Wa & & forw ifsdiaey &t BT AT T S108C / The
objects should be selected by for stretching any object in AutoCAD.
(A) &t faf¥r =51 === L / Select all method

(B) 3R sAM 6 faf¥r/ Pickling method
(€) shig fet === faf¥r / Cross window selection method
(D) 3T § B I3 &1 / None of the above

3ficrhs # fopa s 1 ST Jfeae o iyl oo o @t 7 fanfsa =0 & fog foman
T 87 / Which command in AutoCAD is used to divide the object into segments having

predefined length?
(A) fsa138 / DIVIDE (B) =X / CHAMFER

(c) fm/TRIM (D) 39™ / MEASURE
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44,

45.

46.

47.

Jidrre # Tl Aiea =1 3D @g § et ot fafa @ 2@ & o, =1 399 L / In AutoCAD, to

view a model from any position in 3D space, use the
(A) a{\%ﬂf’s’ / VIEW command

(B) 3DZOOM TS / 3DZOOM command
(C) 3DORBIT®ATE /3DORBIT command
(D) ¥ %HTS / PAN command

e # Fefiiaa § @ <9 o1 3 ffafes =0 sgmwr 7€ 87 /7 In AutoCAD, which of the

following is not an example of solid primitives?
(A) T / SPHERE

(B) % / CONE
() Trufirs /PYRAMID
(D) TEg / DOME

FidI%e #, ISOLINES forew dftuaer fifdse &tar 8 / In AutoCAD, ISOLINES system variable
specifies
(A) T Oivfieg Hise ¥ @ei 6 &1 / The number of segments in a tabulated model

(B) T 3 HigH ! TN L et TuI=d TGt st T&AT / The number of contour lines that

define a solid model
(C) T 3 Hise H = @137 i {9 / The direction of contour lines in a solid model

(D) b TGS T @l I &8 / The length of the segments in an extrution

JAeIbs T, Th E‘[E'h 3 1 % %Q, ST 3TN L / In AutoCAD, to create a revolved solid, use

the
(A) EDGESURF %478 / EDGESURF command

(B) REVSURF %HTS / REVSURF command
(C) U#Hge ®HIS / EXTRUDE command
(D) f&Ted TS / REVOLVE command

14
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48.

49.

50.

51.

52.

TANE W I 38% HRY el 911 & / Stainless steel is so called because its
(A) 3= Wb / High strength

(B) = WUl UieRIY / High corrosion resistance

(C) I EIATYA / High ductility

(D) ﬂ'{l{ﬂT / Brittleness

I8 T eI (Fe) & / The melting point of Iron (Fe) is
(A) 1538°C (B) 1084°C
(C) 666°C (D) 419°C

ﬂ'lﬁaﬁ T T=AT TOEI0T T 3TN Hieh fhAT STAT 8 / The tensile testing of metals is done using
(A) U & wdigror 7R / Uniaxial Testing Machine

(B) o<t udt&er wsf A / Uniform Testing Machine

(C) 3rafera wierer wefie / Uninterupted Testing Machine

(D) wretfies wdteur WEfF / Universal Testing Machine

SE-I @R Har ggedt ], TG a1 / As the elastic limit reaches, tensile strain
(A) 3fees o5l @ dedl 2 / Increases more rapidly

(B) 31t o9t @ wear 8 / Decreases more rapidly

(C) WM * AT o &@ar 2 / Increases in proportion to the stress

(D) &% CRRIG T weaT 8 / Decreases in proportion to the stress

& T HIh 1 27 / What is factor of safety?

(A) WIE ¥ T Hl JHAUId / The ratio of stress to strain

(B) 3IHT T T M THIE T 31U / The ratio of permissible stress to the ultimate stress
(©) At T aqgﬁ'cr TS =BT AUTd / The ratio of ultimate stress to the permissible stress
(D) e T | GHIE T U / The ratio of longitudinal strain to stress
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53. ¥ HeTshH W IR e & 9 | T;ﬁ?ﬂ%, al <flex = &1 STaT @ / When the fulerum is in between
the load and effort, the lever is said to be of
(A)
(B)
(©)
(D)

YEST TR / 1% type
AT THR/ 2™ type
dEU SR / 3 type
IE H A Tﬁé Ush / Any one of the above

54. QYR AR W 39 R Ffése f3am S 8 / The washer is generally specified by its
(A)
(B)
(©)
(D)

T8 =19 / Outer diameter
@E =Y / Hole diameter
Hiers / Thickness

37Ea =99 / Mean diameter

55. forg gha =@ & el & ol 6 9= & Wﬁﬁwmﬁ / The ratio of pitch circle
diameter in millimeter to the number of teeth is called
(A)
(B) =™ fU9 / Diamteral pitch
(C) HIgdst / Module
(D) 39UH # ¥ IS T2 / None of the above

MR = / Circular pitch

56. GIIR T %™ & / The function of the washer is to
A
(B)
(©)
(D)

3T Y W / Fill up the gap

3TER &7 Y i / Provide bearing area

FHUFT I9TE ¥EH % / Provide cushioning effect
TSN $esh 3T U / Absorbed shocks and vibrations

16
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57.

58.

59.

60.

fregeert %1 31 8 / PSLV means

(A) g BT W& I8 / Polar Service Launch Vehicle

(B) g?sﬂa 39Tz dicT 91 / Polar Satellite Liquid Vehicle

(C) gaﬂ'q 39UE Y&YU T8 / Polar Satellite Launch Vehicle

(D) fies IUUE WA 918 / Primay Satellite Launch Vehicle

T AT Sl G AW A G R AT 20 I g Aien B 3G GF A I H 10 T oft, d wer
A 3 <=1 27 / A mother is twice as old as her son. If 20 years ago, the age of the mother
was 10 times the age of the son, what is the present age of the mother?

(A) 68 9Iic1 /68 years
(B) 50 ¥ret /50 years
(C) 56 HI<T / 56 years
(D) 45 9reT / 45 years

12 % T8t 5 TUTRT T IHTEA FT 87 / What is the average of first 5 multiples of 127
(A) 36 (B) 24
(C) 48 (D) 12

e g <Y 3 6 Tt st R et R 6 et e @R wemar R) s A g IR g gEar @
3R 6 fopft =reran 21 % omifives foig & fopw fgem & 872 / Murugan walks 6 km toward the south and

then walks 6 km to his left. Finally he turns to his right and walks 6 km. In which direction is he from
starting point?

(A) <&/ South

(B) cfuI-gd / South-East
(C) Tfor-uf¥m / South-West
(D) f=am / West
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